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Limit03 Answers for No.9395

2
' 3 2 - 2 22X -x"+1 113 11 ¥
A=(lim 2x" —4x " +2x+2=6) 2=(lm (2x-3)(4x" +2x-2)=120) 3 =| lim = M
x—2 x—3 x4 2x-1 7 a
4—x Ax-5-3 -1
.4=[1im =4j .5=(lim —:—] 6=(lim 41 -x = undefined)| | !
x4 2—4lx v14  14—=x 6 X3 h
Ansl = )
. - [x-3 o x-1 @
7=( lim |x-2]|=3) 8=/ lim = undefined 9=| lim ———=— ”
x> (-1) >3 X—3 x> 1- |x —1| 2 U
4 4 . 12x* =23 x+ 10
A0=| lim —+77=» Al=| lim = undefined Math@MUT T
L x>0+ X |x| x—(2/3) |3X—2| 11
L'
Ad=[1lim f(x)=-1, lim f(x)=1, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-5 lim g(x)=-5,lim g(x)=-5]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-6 lim f(x)—g(x)=6 lim f(x)g(x)=-5
x = 0- x— 0+ x— 0+
3= flx) 1 f(x)
m — =" = undefined Math@MUT
L x —0- g(x) 5 x—>0 g(X) |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-2.5)- x—(-2.5)+
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x—(-2.5)
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Limit03 Answers for No.9419

_:_(_
| , . , . C 4x-3x-2x 40)]| Y
A =(lim 5x" =135) 2=(lim (x+1)(2x -3x+1)=184) 3 =| lim = M
x—3 x—>3 x—4 4x-1 3
a
x—4 AVyx—-4-5 -1
.4=(lim =-4] .5=[lim —:—] 6=(lim 41 -x = undefined) || !
Ans] — x4 2—alx r29  29-x 10 X2 h
. . x-3 . x—1 | @
7=(lim |x+1]|=4) 8= lim T = undefined 9=| lim —————=1 o’
X3 X3 X—3| x> 1+ |x—3x+2| U
2 2 . 6X—17x+10
A0=| lim 7—7-—=0| .II=| lim = undefined Math@MUT r
L x— 0+ |X| X x—>(5/6) |6X—5| 11
— _:I(_
Ad=[1lm f(x)=-2, lim f(x)=2, lim f(x) = undefined]
x—0- x— 0+ x—0
2=[lim g(x)=4, lim g(x)=4, lim g(x)=4]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=2 lim f(x)—g(x)=-2 lim f(x) g(x)=-8
x = 0- x— 0+ x = 0-
3= o flx) 1 ,
lim == lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(X) 2 x—>0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
4= lim f(x)=-6.) S=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-5.7)- x—(-5.7)+ x—(-5.7)
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Limit03 Answers for No.9428

(
I 2 2 x—1 I
A=(lim 2x"+3x-2=12) 2=(lim (x"—-4x-4)(5x+1)=-112) 3= lim =0 M
x—>2 x—>3 vl 2x+2
a
64 —x AJx—-4-2 -1
.4:[ lim :-16j .5:(lim —:—J 6=(lim 4/ 1-x =undefined)|| !
Ansl = x> 64 ‘/;_8 x—>8 8—x 4 x5 3 h
_ . ox- _ x-5 1 @
7=(lim |x-3|=0) 8=| lim T—— = undefined 9= lim == || »
X3 X2 X—2| x5+ |x —x—20| 9
33 _ |5x-2] u
A0=| llm —+77=» Al=| lim 5 = undefined Math@MUT T
L x>0+ X |x| xo2/5) 15x —11x+2 )
L
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x>0
2=[lim g(x)=-1, Iim g(x)=-1, lim g(x)=-1]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=3 lim f(x)—g(x)=-3 lim f(x) g(x)=-4
x— 0+ x—0- x— 0+
3= - fx) ,
lim =4 lim f(x)+ g(x) = undefined Math@MUT
L x—0- g(X) x—0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-1.7)- x—(-1.7)+ x—(-1.7)
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Limit03 Answers for No.9459
2
[ -3 10| Y
. 3 2 . 3 2 . X
d=(lim 3x +2x"+4=9) 2=(lim (x+4)(5x" +3x"+2)=50) 3= lim P = M
x> 1 x> 1 il 4 —x"+3x 3 a
49 —x S—4x+1 1
.4=(lim =14J .5=[lim —:—j 6=(lim /2 —x = undefined)| | *
Ans] — x—>49 T —4lx v 24-x 10 X2 h
- x—4 1 @
7=(lim |x-2|=0) .8=(Iim | |=undeﬁnedj .9=(lim 2—:—} Y,
X2 x3 3—X X4+ |x —16| 8
| I | [5x-2] v
A0=| lim ——77=- Al=| lim 5 = undefined Math@MUT T
L x—>0- X |x| x>2/5) 15x " +14x-8 Iy
_ . L
Ad=[1lim f(x)=-1, lim f(x)=-1, lim f(x)=-1]
x—0- x =0+ x>0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-6 lim f(x)—g(x)=-6 lim f(x)g(x)=-5
x = 0- x— 0+ x— 0+
3= o fx) 1 f(x)
lim ——=— = undefined Math@MUT
L x —0- g(x) 5 x—>0 g(X) |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (:37)- x> (3.7)+ x—(:37)
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o)

8—x
.5=(lim —=6j .6=(lim 4/2 —x = undefined)
x—>38 x+1 x—3

.9:(lim S Sk, S
X4+ |x2—6x+8| 2

Limit03 Answers for No.9476

x—1

x—>4

Ansl =

x—1

Ans2 =

Ans3 =

X

J=(lim 3x +x+4=8)

.4=(lim z_ﬁzi

7=(lim |x+2[=3)

.10=( lim —

x>0+ X

lim f(x)+g(x)=5

x— 0+ x—0- x—0-

A=(lim f(x)=0)

x—1- x— 1+ x—1

x—(-1.5)-
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lim
x—2 X —

2=(lim (4x+4)(x*—4x—-4)=-56)

x—1

(. [x—1]
.8=| lim

x—1 -X

= undeﬁnedJ

3x—-4
ooj .11:( lim |2 | :undeﬁnedJ Math@MUT
x—>@4/3) 3x —10x+8
d=[1lm f(x)=3, lim f(x)=3, lim f(x)=3] |
x—0- x— 0+ x>0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x—>0

lim fx)—g(x)=5 lim f(x)g(x)=-6

fltx) 3 . gx)
im = lim = undefined Math@MUT
x— 0+ g(X) 2 x—>0 f(X) |

2=(lm f(x)=1) J3=(lim f(x)=undefined)

6=( lim f(x)=-2.)

x—(-1.5)

f(x)=-2.) .5=( lim

x—(-1.5)+

f(x)=-2.)

( 5x —xr+x
3= E—

1

S

Lo Nmeg®@s~r gk




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXKXXXKXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK XXX XKXXXKXXME/1-6600504-00006XX
Limit03 Answers for No.9491

(
o, o, s ex-2 46\ Y
d=(lim x"-4x-2=-5) 2=(lm (x*-2)(x—-4)=-7) S=llim — =" M
x—3 x—>3 3 2x —2x-1 11 a
3—-4x 1 x—11
.4:(lim [2—] .5:[lim —=6j 6=(lim /2 —x =undefined) | | '
x—9 9-x 6 x—>11 ’\[x—2—3 x—3 h
Ansl = ) >
. . |x—3| ) |x —7x+10| @
.7=( lim |x+1|:2) 8=| lim = undefined 9=| lim =3 M
x=(-3) x—3 - X x5+ x=35 U
1 . 3xX-10x+8
10=| lim —+77=0| .I/=| lim = undefined Math@MUT T
L x—>0- X |x| x—>(4/3) |3X—4| )
] ) _'.r(_
d=[1lm f(x)=3, lim f(x)=3, lim f(x)=3]
x—0- x— 0+ x>0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=7 lim f(x)—g(x)=7 lim f(x)g(x)=-12
x— 0+ x— 0- x — 0-
3= . fix) 3 - fx)
lim = lim = undefined Math@MUT
L x— 0+ g(X) 4 x—>0 g(X) |
A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
| 4=( lim f(x)=-5) S5=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-4.6)- x> (-4.6)+ x> (-46)
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Limit03 Answers for No.9633

x—2 x—2

] x—49
4=| lim
x—>49 T —

d=(lim 5x+x-1=21) .2=(lim (4x—-4x-3)(5x"=2x-4)=60)

) 5x+4
.3=| lim 5
xo3 Sx —x

19
42

-22
:-14J .5:(lim s :-10] 6=(lim 42-x=1)
Ans] «/; x52 5—4x+3 x> 1
nsl = . ‘ _ _ |x2—8x+15|
7=( lim |x+3|=0) 8=| lim T——7 = undefined 9=/ lim =2
x> (-3) x—>2 X—2| x> 3+ x—=3
' 3 _ 10x* =31 x+ 15
A0=| lim ——77=0 Al=| lim = undefined Math@MUT
L x>0+ X |x| x—(5/2) |2X—5|
i d=[1lim f(x)=-1, lim f(x)=-1, lim f(x)=-1] ]
x— 0- x— 0+ x—0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=4 lim f(x)—g(x)=-6 lim f(x)g(x)=5
x— 0+ x— 0+ x = 0-
3= flx) 1 f(x)
m = = undefined Math@MUT
L x— 0- g(x) 5 x—0 g(x) |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x — 3- x — 3+ x—3
| 4=( lim f(x)=-3.) 5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(-3.7)- x— (-3.7)+
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x—(-3.7)
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Limit03 Answers for No.9711

x—>1
T—4x -1
.4:(lim [:—] .5:[lim
Ans] = 49 X—49 14 x> 1 l-x
—-X
7=(lim |x+1]=2) .8:(lim—
x—>1 x—3 x-3
4 4 , |3x-2]
0= lim —-77=0 Al = lim S,
L x>0+ X |x| x> 2/3) 12x"+x—-6
x—0- x— 0+
x—0- x— 0+
Ans2 = lim f(x)+g(x)=3
x— 0+ x— 0+
lim ( ):-2
L x— 0- g(x) x>0
Ad=(lim f(x)=2)
x—2- x— 2+
ASS= 4y lim fx)=-2) S=( lim
x—(-2.9)- x—(-29)+
[Page = 0008]

X

J=(lim 3x°+2x+4=9)

Ad=[1lim f(x)=-2, lim f(x)=2, lim f(x)=undefined]

x—3

2=[lim gx)=1, lim g(x)=1, Iim g(x)=1]

2=(lim (x—4)(x"=1)=-8)

2-@_1}

4

| = undeﬁned}

= undeﬁned]

x—0

x—0

lim f(x)-g(x)=1

2=(lim f(x)=3)

f(x)=-2.)

lim g(x) - f(x) = undefined

3= B —
(x—>4 5x—x—1

i 2x° +4x
lim

1 )
25

.6=(lim +/x -3 =undefined)

x—2

N

lim
x—0-

Math@MUT

x—2

6=( lim

. x—2
lim
x—2-

Math@MUT

f(x) g(x) =-2

J3=(lim f(x)=undefined)

f(x)=-2.)

x—(-2.9)

-1
|x2—6x+8|: 2J

S
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Limit03 Answers for No.9784

X

_:_(_
I . 2 . 2 - 2x—4 2| 7
d=(lim 2x"+1=19) 2=(lim (4x-2)3x" —x—-1)=2) S=llm — =7 M

x> 3 x> 1 x>1 5x°+3x-3 5
16 —x 17 -x ¢
.4=(lim :-8] .5=[lim —z-s) 6=(lim /3-x=1) 4
x— 16 «/7—4 x>17 Afx—1-4 X2 h
Ansl = 2 ,
) . |x—3| ) |x—6x+8| @
7=(lim |x-2|=1) 8=| lim = undefined 9= lim —————=2|| 4,
x—3 x—3 3-x X — 4+ x—4
2 U
] 5 5 ) 12x"—19x+4
A0=| lim —+77=0| .//=| lim = undefined Math@MUT T
L x—>0- X |x| x> (4/3) |3x—4| A1)
_ . L
d=[1lm f(x)=-1, im f(x)=-1, lim f(x)=-1]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=2 lim f(x)—g(x)=2 lim f(x)g(x)=-3
x— 0+ x—0- x— 0+
3= fix) 1 ,
im =" lim f(x) g(x) = undefined Math@MUT
L x — 0- g(X) 3 x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-3.) S=( lim f(x)=-3.) = lim f(x)=-3.)
x> (-33)- x> (33)+ x—(-33)
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Limit03 Answers for No.10143

(
o , . 3x+4 11
A=(lim 4x"+4x+3=11) 2=(lim 2x +2x-1)(x+2)=9) - M
x—1 x—1 x4 Sx+3x+1 a
x-9 -l Ax-5-4 -1
.4:[Hm. = .5:[Hm—_____—:—‘ .6=(lim +/x—2 =undefined) f
x— 81 81 —x 18 =21 21 —x h
Ansl = ,
7=(lim |x+3]=5) 8 (1‘ =L e dj 9 {1‘ x| 'IJ @
J=(lim |x+3|= 8=| lim 7 =undefine I=lm ="
X2 x> 1 X—1| x%L|x2—6x+5| 4 M
11 |4x-3] v
A0=| lim —+77=o A= lim 5 = undefined Math@MUT T
L x>0+ X |x x—>3/4) 8x —10x+3 Iy
) _‘.7(_
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x—0
2=[lim g(x)=-5 lim g(x)=-5,lim g(x)=-5]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-1 lim f(x)—g(x)=1 lim f(x) g(x)=-20
x— 0+ x—0- x— 0+
3= flx) 4 :
1 = lim f(x)+ g(x) = undefined Math@MUT
L x — 0- g(X) 5 x—>0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
4= lim flx)=-4.) S=( lim f(x)=-4) .6=( lim f(x)=-4.)
x— (-4.9)- x—(-4.9)+
[Page = 0010]

x—(-4.9)
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Limit03 Answers for No.10626

(
o, , ) ) , 3x+3 11
A=(lim x"—x+2=8) 2=(lim (2x —-4x+3)(5x +4x)=513) J3=|lm — = M
x—3 x—3 xo2 4x -3x-1 u
9—-4x 1 x—4
.4=( lim [:—] .5=(lim —:-6j .6=(lim 4/x—2 =undefined) !
Ans] — vos 8l—x 18 x4 3—-4x+5 x> 1 h
. . x-3 . |x2+3x—4| | @
7=(lim |x-3|=0) 8=| lim T——7 = undefined 9=|lim —————=5|| iy
x—3 x—3 x_3| x—1- x—1 U
11 _ |5x-2]
A0=| lim 7 7-—=0w A= lim 5 = undefined Math@MUT T
L x = 0- |x| X x—>(2/5) Sx +18x—8 AN
] _'.r(_
d=[1lm f(x)=1, Iim f({x)=1, lim f(x)=1]
x—0- x— 0+ x>0
2=[lm g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim fx)+g(x)=2 lim fx)—g(x)=2 lim f(x)g(x)=1
x— 0+ x — 0- x— 0+
3= ) e
lim =-1 lim = undefined Math@MUT
L x —0- g(x) x—>0 f(X) |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
4= lim flx)=-4.) S=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (:37)- x> (37
[Page = 0011]

x—(-3.7)
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Limit03 Answers for No.11002

J=(lim ¥ -2x’-4x+3=0)

x—2

2=(lim (x+1)(2x =3x+2)=12)

x—3
o 8—yfx -1 , x+3

4=| lim = S=| Im —FF—=-2
roes X—64 16 x5(3) 1—ax+4

J=(lim f(x)=2)

x—2-
4=( lim f(x)=-2.) .5=( lim
x—(24)+

x -2+

Ans3 =

X [Page = 0012]

2=(lim f(x)=3)
flx)=-2.)

2
x>l 3x —-2x

6=(lim 4/x-2=1)

x—3

.3:[lim

Ansl = 5
| x-2] |25
7=( lim |x+1]|=0) 8= lim = undefined 9=| lim ———=10
x—(-1) xs2 2-X x5 X—5
11 ' |5x-2]
A0=| lim ——77=0 Al=| lim 5 = undefined Math@MUT
L x>0+ X |x| x—(2/5) 20x =13 x+2
Ad=[1lm f(x)=-1, lim f(x)=1, lim f(x) = undefined ]
x—0- x— 0+
2=[lim gx)=1, lim g(x)=1, Iim g(x)=1]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=2 lim f(x)—g(x)=-2 lim f(x)g(x)=1
x— 0+ x—0- x— 0+
3= - fx) :
lim =-1 lim f(x)— g(x) = undefined Math@MUT
L x—0- g(X) x—>0 |

J3=(lim f(x)=undefined)
x—>2
.6=( lim

x> (-2.4)

f(x)=-2.)

4x°-2x-4
_ 2

LR NORE® s~ s TR

x> (2.4)-
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Limit03 Answers for No.11188

Ansl =

X [Page =

0013]

d=(lim 5x’ -2x"+4x+3=10)

x—>1

x—16 Ax—4-5 -1
.4:[hm :8] .5:(hm —_____—:_J .6=(lim +/1—x =undefined)
x> 16 J_—4 v 29-x 10 x—53
) ) |x—2| ) |f—5x+6|
.7:(hm|x+2|=3) 8= lim = undefined 9= lm ———— =1
x—1 xX—2 x—2 x— 3+ x=3
4 4 20X -7x-6
A0=| lm 77-—=0 Al=| lim = undefined Math@MUT
m%%|x| X x—(3/4) |4X—3|
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x>0
2=[lim g(x)=-3, Iim g(x)=-3, lim g(x)=-3]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-7 lim f(x)—g(x)=7 lim f(x)g(x)=12
x—0- x— 0+ x = 0-
3= . flx) -4 ,
lim = lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x— 2+ x—2
4= lim flx)=-4.) S=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-45)- x> (45)+ x> (-45)

2=(lim (x=2)(3x*=3x+3)=-3)

x—1

3=

o

lim

4x-3

v 4XP+3x

S
22

=

LR NOR® s~ s Relx
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_i_
I . 3 2 . 3 2 . AxX +3x7+2x 11
A=(lim 4x —4x"-2x-1=65) 2=(lim (5x—-1)(2x -3x"+3x)=90) .3=| lim =12 M

x—3 x—2 x—2 4x-4 a
S5—4x -1 Ax—=1-2 -1
.4:(lim [:—] .5:(lim —:—] .6 =(lim 4/ x—2 = undefined) f
Ansl = x—25 x—25 10 x—=>5 5-x 4 x—>2 h
) . o x=2 . |x2—2x—3| | @
.7 =(lim |x—2|=1) 8=| lim 77 =undefined Y=lm ———=+4 M
x—>1 x—2 )C—2| x — 3- x—3 U
.5 5 . |45 - 5]
A0=| lim —7-—=0 Al=| lim 5 = undefined Math@MUT T
L x = 0+ |x| X xo(5/4) 12x"=31x+20 Iy
— _:I(_
d=[1lm f(x)=1, Iim f({x)=1, lim f(x)=1]
x—0- x— 0+ x>0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=5 lim fi(x)—g(x)=5 lm f(x)g(x)=4
x— 0+ x — 0- x— 0+
3= . fx) -l . gx)
lim ——=— lim = undefined Math@MUT
L x—0- g(x) 4 x—0 f(X) |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
A4=(C lim flx)=-4) S5=( lim flx)=-4) .6=( lim flx)=-4.)
x> (-4.9)- x> (-4.9)+ x> (-4.9)

X [Page = 0014]
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X

x> (-2.6)-

[Page 0015]

x—(-2.6)+

Limit03 Answers for No.12113
(
i [ 11 2)
d=(lim ¥ +2x*-3x—4=-4) 2=(lim (4x+4)(5xX +4x")=672) .3=(lim :undeﬁnedJ M
x—1 x—2 x4 X — a
5—4x -1 AJx-5-1 1
.4:[ lim f:_] .5=[1im —:—J 6=(lim 41 —x = undefined)|| '
Ans] = 25 X—25 10 x—>6 x—6 2 x—>2 h
_ x—2 N[ @
7= lim |x+3|=1) .8=(lim —=undeﬁned] .9=(lim 2—=—j M
x—(2) x—3 X—3| x> 2+ |x +2x—8| 6
4 4 _ |3 - 4] v
A0=| lim —+77=0 Al=| lim 5 = undefined Math@MUT T
L x—>0- X |X| x>4/3) 15x —11x-12 Iy
L
Ad=[1lm f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x>0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=6 lim f(x)—g(x)=-6 lim f(x)g(x)=8
x— 0+ x—0- x— 0+
3= - fx) :
lim =-2 lim g(x)— f(x) = undefined Math@MUT
L x — 0- g(X) x—>0 A
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
4= lim f(x)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-2.6)
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_.‘_(_
[ o, , ) , 4x—4 2] | ¥
d=(lim x"—1=28) 2=(lim (5x-3)(4x"+2x+3)=18) 3=|lm — =" M
x—3 x> 1 ro2 S5x—4x" -2 11 4
100 — - 14
.4=( lim —x=2oj .5=(lim x—:6J 6=(lim +x—3 = undefined) | | !
x—>100 10 —4/x x—>14 Af/x—5-3 X3 h
Ansl = ,
_ o |x—1] _ x—1 1| @
7=(lim |x-3|=1) 8= lim = undefined 9=\ lim ———=—||
X2 o1 x—1 x> 1- |x +4x—5| 6
2 2 3057 -29x+4 v
A0=| lim 7—7-—=0 Al=| lim = undefined Math@MUT T
L x— 0+ |X| X x—(1/6) |6X—1| 41
i ) _'.!(_
d=[1lim f(x)=-2, lim f(x)=-2, lim f(x)=-2]
x = 0- x— 0+ x—0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-4 lim f(x)-g(x)=0 lim f(x)g(x)=-4
x— 0- x—0- x— 0+
3= . fx) :
lim =-1 lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(x) x—>0 |
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-1.) S5=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-1.9)-

x—(-1.9)+ x—(-1.9)
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I _ X , , s 42x 17
A=(lim 4x" +x=34) 2=(lm (x—-4)(5x" —-1)=-12) S=llm — ="+
x—2 x—1 x>3 3x -3 8
) I —x ) 5-4x+3 -1 )
4=\ lim =-2 S=| lim ———=_ b6=(lim y2-x=1)
sl — o1 Ax -1 con x=22 10 i1
) i |x—3| . |x2—5x+4|
.7=( lim |x—1|:2) 8=\ lim = undefined Y= lm ——— =
x=(-1) x—3 - X x> 1+ x—1
o1 . 20X -9x-20
A0=| lm —-77=0]| .//=| lim = undefined Math@MUT
L x>0+ X |X| x> (5/4) |4X—5|
Ad=[1lm f(x)=-3, lim f(x)=3, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=8 lim f(x)—g(x)=-8 lim f(x)g(x)=15
x— 0+ x—0- x— 0+
3= . ftx) 3 , )
lim ——=— lim = undefined Math@MUT
L x — 0- g(X) 5 x—0 g(X) |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-43)- x> (-43)+ x> (-43)

X
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Limit03 Answers for No.12621

0018]

X [Page

N

x—(2.1)+

¥ —4x -3x ij_
5x—4

| —25] 10

Math@MUT

3

.6 =(lim +/3 —x = undefined)

x—5 1

|

=

d=(lim 2x +4x’—=4x-2=0) 2=(lim (x—4)(5x —4x"—4)=-95) lim
x—1 x—3 x—2
- 100 Ax=5-4 -1
.4=( lim ——— =-20J .5=(lim R =—]
Uns] = x—>100 10 —4/x o2 2l—x 8 x—>3
7=( lim |x-3|=6) .8=(lim| — |=undeﬁnedj .9:(lim
¥ (3) xs2 X~ o> 5+
, 5 . 6X+11x-10
A0=| lim ——77=0 Al=| lim = undefined
L x>0+ X |X| x—(2/3) |3X—2|
i Ad=[lim f(x)=-4, lim f(x)=-4, lim f(x)=-4]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-7 lim f(x)—g(x)=-7 lim f(x)g(x)=12
x—0- x— 0+ x —0-
3= fo 4
lim = lim f(x)+ g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim fi(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(-2.1)

LR NOR® s~ s Relx

x> (2.1)-
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:(
3 2 2 2 10
A=(lim 2x +3x"+1=29) 2=(lim (2x"+x+3)(x"+3x)=432) 3= lim 5 = undefined M
x—2 x—3 xs1 2x° =2
1—qfx -l x-23 .
.4=[lim =—j .5=(lim —=-10J 6=(lim /x—1=42) t
B rs1 o x—1 2 x>23 S—alx+2 X3 h
Ansl = )
) ) 2—-x ) x—1 1 @
7=(lim |x+3|=4) 8=\ lim T = undefined 9=| lim —————=- Y,
x> 1 X2 X—2| x> 1+ |x +2x—3| 4
4 4 . [5x-3] 0
A0=| lim ——77=0 Al=| lim 5 = undefined Math@MUT T
I coor % |x| >G5 158+ 11x— 12 1
_ . L]
d=[1lim f(x)=-4, lim f(x)=-4, lim f(x)=-4]
x = 0- x— 0+ x—0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—-g(x)=-8 lim f(x)g(x)=16
x— 0+ x— 0+ x = 0-
3= . fx) :
lim =1 lim f(x)— g(x) = undefined Math@MUT
L x—0- g(X) x—=>0 |
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
4= lim f(x)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-2.6)- x—(-2.6)+
[Page = 0019]

x—(-2.6)
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Limit03 Answers for No.12674

X [Page

2=(lim (X -1)(x*+4x-1)=160)

) 4x—-4
lim 5 =
xo1 5x°=2x+3

o

(
_ 2 9
A=(lim 2x"-2x+2=14) M
x—3 x—3 a
64 — x Ax—4-5 1
.4:(lim :16J .5:[lim —:—] 6=(lim /2-x=1) !
Ans] = x>64 8—4/x 29 X¥—29 10 x> 1 h
] ) —-X ) |f—2x—1ﬂ | @
7=(lim |x-2|=1) 8=| lim T = undefined 9=| lim =8 (|| as
x—=3 x—>1 X—1| X =5+ x—=5 U
2 2 . [2x-3]
A0=| lm 7-—=0w Al=| lim 5 = undefined Math@MUT T
x—0- |x| X x>3/2) 2x +T7x-15 Iy
L
Ad=[1lim f(x)=-2, lim f(x)=2, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=-2, Iim g(x)=-2, lim g(x)=-2]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-4 lim f(x)-g(x)=0 lim f(x)g(x)=-4
x— 0- x—0- x— 0+
3= . fx) :
lim =-1 lim f(x)+ g(x) = undefined Math@MUT
L x— 0+ g(x) x—>0 |
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-4.1)- x> (A1)t x> (-41)
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(
I ) N ) 5 ) ©o3P -1 3) )
d=(lim 3x"-2x-3=5) 2=(lim (x*-x+2)(2x-4)=16) B=|lm —/————— =~ M
x—>2 x—>3 x—4 4x+4 4 a
x—-10 1 4—-4x+3 1
.4:{ lim [—:—J .5:(lim —:—j .6=(lim +/x -2 =undefined) !
Ans] = t—>100 *x—100 20 x—13 13 —x 8 x> 1 h
. o |x-3] | —6x+8] | @
.7 =(lim |x—3|:1) 8= lim = undefined Y= lm ————=-2 M
x—>2 x—=3 x-3 X = 2- x=2 U
.33 , |3x-1|
A0=| lim 7 7-—=0w Al=| lim 5 = undefined Math@MUT T
x> 0- |x| X x>(1/3) 6x +13x-5 11y
L
Ad=[1lm f(x)=-2, lim f(x)=2, lim f(x) = undefined]
x—0- x— 0+ x—0
2=[lim g(x)=-2, Iim g(x)=-2, lim g(x)=-2]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-4 lim f(x)-g(x)=4 lim f(x)g(x)=4
x = 0- x— 0+ x = 0-
3= . f(x) :
lim =-1 lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
4= lim flx)=-4.) S=( lim f(x)=-4) .6=( lim f(x)=-4.)

x—(-3.1)- x—(-3.1)+ x—(-3.1)
DG R=Te (CHESN LN D 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9.0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0:0.0.0.0.0.9:0.0.0:4
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Limit03 Answers for No.14247

(
o _ ) o 2x+4 117
d=(lim 4x"+4=40) 2=(lim 3x"+4x-2)(5x-2)=15) 3=|lm —————=-2 M
X3 x> 1 xs2 X —4x-2 a
S—4x 1 Ax=5-2 1
.4=(lim “/7=—J .5=[lim —_—J 6=(lim 43-x=42) t
Ans] = 25 25—-x 10 x—9 x—=9 4 x— 1 h
) . |x—1| ) |f—5x+4| | @
.7 =(lim |x+1|:2) 8= lim = undefined Y= lim ———— =3 M
x—1 x—>1 l—x X =4+ x—4 U
4 4 _ 3 x—4]
A0=| lim —+77=0| .II=| lim ~——>——  =undefined Math@MUT T
L x—>0- X |x| x>(4/3) 6x —5x—-4 Iy
_ . L'
d=[1lm f(x)=3, lim f(x)=3, lim f(x)=3]
x = 0- x— 0+ x—>0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=38 lim f(x)—g(x)=-2 lim f(x) g(x)=-15
x— 0+ x— 0+ x = 0-
3= . fx) 3 :
lim = lim f(x)+ g(x) = undefined Math@MUT
L x—0- g(X) 5 x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim f(x)=-6.) 5=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-5.8)- x—(-5.8)+
X [Page = 0022]

x—(-5.8)
000.0:0:0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'0.0.0.0.0.0.0.0.00.0.0.4
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